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I. Choose the word whose underlined part is pronounced differently.

1. A.crime B. nutrition C. vehicle D. picture
2. A. obesity B. poverty C. homeless D. overpopulation
I1. Choose the word that has a different stressed syllable from the rest.
3. A. lazy B. children C. disease D. stressful
4. A. recipe B. abundant C. celebrate D. limiting
I111. Choose the best option (A, B, C or D) to complete each of the following questions.
5. eldest boy is at college.
A. The —the B. An —the C.The-@ D. A —the
6. Traffic jam is the most serious in big cities nowadays.
A. part B. cause C. problem D. affect
7. Jane’s voice is good. is good, too.
Al B. my C. mine D. me
8. One day | will travel to the Moon in a big that travels faster than the speed of sound.
A. car B. train C. boat D. space ship
9. Using non-renewable energy sources like coal, oil a lot of carbon dioxide.
A. makes B. does C. uses D. produces
10. Festival of lights is a festival in India.
A. religion B. culture C. nation D. religious
11. She went to bed early she didn’t finish her work.
A. despite B. although C. however D. but
12. The underground in Japan is much than taxis or buses.
A. quickly B. quick C. quicker D. more quick
13. What did you use to play when you were six years old?
A. toy B. card C. ball D. game
14. There should be a limit in the playground to prevent accidents.
A. speed B. time C. engine D. cost
15. My father a biogas cooker in the kitchen, and the workers solar panels on the roof

of our house now.

A. puts — are installing B. is putting — install
C. is putting — are installing D. puts - install

IV. Write the correct form of the words in brackets.
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17. We participate in a lot of activities to help the people in the countryside. (OLD)

18. Natural gas is and it is harmful to the environment. (LIMIT)

19. He was still when I saw him at 11 o’clock yesterday evening. (WAKE)

20. Traffic accidents can be if people obey the rules. (PREVENT)

V. Read the following passage and choose the best answer to fill in each blank.

The re-occurrence of new technology over the years has helped us change the way we live and (21)

daily activities. Most of this development is as a (22) of inventing and creating new ways to reduce
our daily stress and live an improved life. The transportation industry is one of the important areas where new
technological advancement takes (23) . We now see cars that drive themselves along predetermined
routes. Trains that will use new magnetic rail systems. An amazing new “hyperloop” train that will speed 800
miles per hour. All these innovations are not just a form of illusion, they are set to happen within the next
coming years (24) have already started transporting us. This has increased the level of some

industries like vehicle transport companies and car shipping carriers. It has also made truck production

company, and fleet management (25) efficient.

21. A. do B. make C. have D. create
22. A. answer B. reason C. result D. cause
23. A. up B. off C. part D. place
24. A. but B. or C.and D. so
25. A. less B. little C. more D. as

V1. Read the passage and decide whether the statements are TRUE (T) or FALSE (F).

Population problems are different in different parts of the world. For example, in many European countries,
the population is getting older. The birth rate is low because many young people have only one child or none
at all. After retirement, they feel lonely and often very poor because they don’t save enough money.

In Africa, the population problems are very different. The population has grown rapidly over the last 40 years
and it has a relatively young population. Many families continue to have large numbers of children to look
after older people and to help on the land.

Asia is the largest and most populous of earth’s continents. It also has the highest population growth rate
today, and its population almost quadrupled during the 20th century. Asian population will continue to grow,
increasing pressure on the region’s natural resources.

26. In Europe, young couples usually have more than two children.

27. Old people in many European countries don’t save enough money for their retirement.

28. The population of Africa has increased rapidly.

29. Asia has the highest population growth rate in the world.

30. The population of Asia will decrease in the next few years.
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VII. Complete each of the following sentences using the cues given. You can change the cues and use

other words in addition to the cues to complete the sentences.
31. Every country/ should do/ something/ control/ population.

=>

32. I/ be/ most interested/ hyperloop/ skytrain.

=>

33. Solar power/ depend/ weather condition/ operation.

=>

34. She/ participate/ Boryeong Mud Festival/ three/ year/ ago.

=>

35. I/ enjoy/ watch/ film/ made/famous/ Hollywood film producers.

=>
IX. Listen and complete each sentence with NO MORE THAN TWO WORDS.

36. Energy is classified into groups.

37. The energy from is called renewable energy.

38. Using renewable energy can reduce your costs.

39. Non-renewable energy is limited and will in the future.

40. Fossil fuels when burnt release in the air and cause serious environmental changes.

---------------------- THE END
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